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General Instructions :

(i) There are a total of 26 questions and five sections in the question paper.
All guestions are compulsory.

(ii)  Section A contains question number 1 to 5, Very Short Answer type questions of
one mark each.

(iii)  Section B contains question number 6 to 10, Short Answer type I questions of two
marks each.

(iv)  Section C contains question number 11 to 22, Short Answer type II questions of
three marks each.

(v) Section D contains question number 23, Value Based Question of four marks.
(vi)  Section E contains question number 24 to 26, Long Answer type questions of five
marks each.

(vii) There is no overall choice in the question paper, however, an internal choice is
provided in one question of two marks, one question of three marks and all three
questions of five marks. An examinee is to attempt any one of the questions out of
the two given in the question paper with the same question number.

gug — &
SECTION - A

.  DNA &l g1 § RNA 1 31iues STHIshITiet eiar & 2 1

Why 1s RNA more reactive in comparison to DNA 7

2. gUH ASEll R IMeh o &g I ST el TR 6T a1 W 53 ST ¢ 2 1

Name the interaction that exists between sucker fish and shark.

Te1 1T T qF T | Guer (A) 3R AZhierdn (B) o GoaT o ST (ShEY) J9T T & | 3%
TS9N o YT H 37dY 910 | 1
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These pictures show the gynaeceum of (A) Papaver and (B) Michellia flowers. Write

the difference 1n the structure of their ovaries.

4. VAT o TS H HHEES TR bl AR BIET hITITeh! hl ISR 3TeRIY -1 HET ST & 2 1

In what way 1s monocyte a cellular barrier with reference to immunity ?

5. T TGS & HHEEHT [ger =1 € ? 9arsy | 1

State the chromosomal defect 1n individuals with Turner’s syndrome.

e - g
SECTION - B
6. U M.TAH ST oic <gd sal’ UUTH & 1T TS &1 ¢ & | THERT i o [ 39 U5Id |

YT ST &llet Jeteqd =0T ol i Sy | 2

eI
HATARad o I Farsy
(a) ORGII S{STERTT
(b) TR

A childless couple has agreed for a test tube baby programme. List only the basic steps
the procedure would involve to conceive the baby.
OR
Mention the function of
(a) Zona pellusida
(b) Coleorhiza

7. U 3SEYUT od gV Jarey o fashd TesTadr e oy 3TmemRd et ¢ | 2

Explain with the help of an example the type of evolution homology 1s based on.
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8.  E-coRI & ¥ ? ¥Ry {% EcoRI [T TR TaAfeiust | 1= &1 & | 2

What 1s EcoRI ? How does EcoRI differ from an exonuclease ?

9. 3TT AT ATt &R W T o 9% AT I A-SHRT FA & STl & 2 J-AF &7 & a5
3T IR HH STATg & 3T et &l ST € 2 2

Why do people suffer from altitude sickness after reaching the high altitude regions ?
How does their body acclimatized after a couple of days ?

10. %

l UV Tt
CFC’s —> C/ W

!

0,—> 0,
(a) STIH & EATEROT & I9aTd & aTel ST 37 € 2
(b) THH YT W YT -] JHT TSl € ? 2
lUVlight

CFC's—> (C/ atoms

!

03 % 02
(a) What are the-after effects of the degradation of ozone ?
(b) How does it affect human health ?

g - 1
SECTION - C

1. TERMNE TAETd | g arel 39 UISY-STHHUT 3l ST iU 56 deh IXARY FHE™ dh el Tgd
ST |

3

Explain succession of plants in xerophytic habitat until it reaches climax community.
2. HFaEr % o TORET T ICIRERIT S 910 I & 56k RO JrdITHaT ArHeh I & Sl § 2

SeINE S 5T F-1-RT A Bt & 2 3

Which chromosomes carry the mutant genes causing thalassaemia in humans ? What

are the problems caused by these mutant genes ?
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(b) WeFH U ‘Y’ I A IdIsT a7 39k g &I 919 9T Id15T |
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The above diagram shows human male reproductive system (one side only).
(a) Identity ‘X" and write its location in the body.

(b) Name the accessory gland “Y’ and its secretion.

(c) Name and state the function of ‘Z’.

4. T HI T HHA ol IERT T GhHAT & T & | Y aRRE g T-REA 169 THR
forshiae sl ST Fehell & 2 39 WUl Sl AT HitTd | 3

A sugarcane has been attected by virus. How can a virus free cane be developed from
it ? Explain the procedure.

15. TAUS | Yad 3T et T o I o WTehiaeh aR0T | TR0 sl ST JiHehT &l 2 3
rerar
farehT & TS T S Tetedl 317 359 Hhoi=iY o Sl THIHT ol o 37 THed € 2

How did industrialization play a role in Natural Selection of light and dark coloured
moth in England ?

OR

What do you infer from the resemblance between tlying squirrel and tlying phalanger
with reference to their evolution.
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16.

17.

18.

19.

20.

21,

(a) B-SHITSTRISA 37T T-HITSThTeT H T fsharces 3aY &laT € 2

(b)  rDNA JRIRTRI I T Xd g gUeEcd B oo 3ca - H U &l &1 A
ddigd | 3

(a) What 1s the functional difference between B cells and T cells.

(b) Name the source used to produce hepatitis B vaccine using rDNA technology.

SATET {6 HIV & ROT AIDS o Uited i sl Ulaell-a [hg Teh 977 &1 SIar & | 3

How does the HIV breakdown the immune system of the AIDS patient ?

U AWEER! [ TR ATaeh O 9= &1 & ? Wcdeh ol 331eX0T Sl gU AT HIT | 3

How does a detritivore differ from a decomposer ? Explain with an example each.

PCR ¥ Taq Tt 1 T SR 21 T & 2 3 UTe 3 S %t == Hfw 3

Why 1s Taq polymerase preterred in PCR ? Mention the source of this enzyme.

AT Tk o IR TR (541 § Ueh QR Sl H 8 aTell 9ISl ohi ST ity - 3
(a) 139§ AR 159 {57 o 3SR & WY 8H areAl ST

(b) 169 T TR 238 {57 de TSR o HidY T ST el ] &1 &

() 24e | WY 299 f5 T U & | & Jrell JeA

Explain the events in a normal woman during her menstrual cycle on the following
days.

(a) Ovarian event from 13-15 days

(b) Ovarian hormones level from 16 to 23 days

(c) Uterine events from 24 to 29 days

(a) DNA & e 9] 3R HiST Sofeh H 3T Fadsy |

(b) DNA & Ui o [T Sl o |ld T A1 Farsy | 3
(a) Differentiate between a template strand and coding strand of DNA.

(b) Name the source of energy for the replication of DNA.

22. THX A 3T "I DDT & 3UAM X & | S99 ©HE Geil-FHe W 69 TR SMTE T8l

3,

3

Our tfarmers still use DDT. How 1s this affecting the local bird population ?
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SECTION -D
23. TS TFDHIT AU JaT SESAT H g I U 81 TAT | 39k HIal-Ual 39 37T &l T 34 & [0
AR &1 T | 37 &1 37 3Mavgsh Tafhedehid 0N &l Yol Sy, ST fhdl 37T o AfaRauT -
T U8t [T ST STET 8 & | Fl-adt T Ridor 6 [THel | 9 3Taiehd &1 Sar € 2 37 g
T W L & [T 3T 0 W -FAd o U&= & 1Y T aaR-ToH9] ST T ? 4

A youth 1n his twenties met with an accident and succumbed to the injuries. His parents
agreed to donate his organs. List any two essential clinical steps to be undertaken betfore

any organ transplant. Why 1s the transplant rejected sometimes ? What views would you
share with your health club members to promote organ donation ?

g - F
SECTION - E

24,  HHE-3E] 1 U= fHT T I EIA € 2 36 918 HRHYR! (AR o AT Tk 8-
ATl TAT3T %l HHAR Gl ST | 5

ST

(a) TEESTET g7 & FOTad YUTehS &1 3T a9RY | 39 9T Hivehd Toeeh T A
HIT |

(b) TG YUY ¥ 3ca~1 Ueh GRUSE YT o URAE ohl AT HivT |

Mention the site of fertilization of a human ovum. List the events that follow 1n

sequence until the implantation of the blastocyst.

OR

(a) Draw a-diagram of a fertilized embryo sac of a dicot flower. Label all its cellular
components:

(b) Explain the development of a mature embryo from this embryo sac.

25. TH®YT T STATTeh! § SUCRUT-HSTd ol T8 Teh THIUTT RAT 2 39 JUTell ol SRS i | 5
3reqar
TS o “TETMITEAT, 3ot TR, T TR 3% “aRe S Sem deeet g7
T WeT0T W TS el € 2 Wedieh 31 Ueh 3ITEXUT Sl U ST HioTT |
How did Griffith prove transtorming principle in Genetics. Explain the procedure.

OR
How do “Pleiotropy”’, “incomplete dominance”, “co-dominance” and

(44

polygenic
inheritance” deviate from the observation made by Mendel ? Explain with the help of
one example for each.
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26. Bt UM Icq T H TR SITUTINTE! o STUFNT Tl AT HioT | 3

ST

ST T dde 3T DNA-HIT Sl 7 T T, 37T g0 TSI i TN 7 [haT ST, q97 STl
ST, T T diisd qAAST deeY 310] 3l Icq~ ol [T ST Fehd |

(a) ST DNA 4T i [HT U HIeT ST € 9
(b) THIC T WSl ol 3T HI ol deh-Ieh ol AR HIOT |
() TH UHR M TS ol DNA 370] ¥ {6 TR [ I © 2

Explain the application of biotechnology in producing Bt cotton.
OR

Unless the vector and source DNA are cut, fragments separated and joined, the desired
recombinant vector molecule cannot be created.

(a) How are the desirable DNA sequences cut ?
(b) Explain the technique used to separate the cut fragments.

(c) How are the resultant fragments joined to the vector DNA molecule ?
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